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QUESTION 1

The following stem—and-leaf display gives the scores of a sample of 30 students on a statistics exam

500 2 7
6|1 5 4 9 8

711 1 2 5 2 6 7 9 9
g(0 t 3 4 7 77
96 &8 2 3 2 5

Which statement 15 mcorrect?

1 The median is equal to 78

2 Thke mode 15 equal to 87

3 43 33% of the students scored above 80%
4 The range 1s equal to 48

5 10% of the students scored less than 60%

QUESTION 2

Consider the following data set

[33]20]45]60 42195238 36|

Which one of the following statements 1s incorrect?
1 The mean, X = 39 3333
2 The median s 38
3 The data distnbution 1s negatively skewed
4 Therc 1s no mode

5 The coefficient of variation 1s equal to 31 14%
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QUESTION 3

In perfectly symmetric distnbutions which of the following 1s NOT a correct statement?

I The distance from the smallest observation to O, 1s the same as the distance from (; to the largest observa-

tions
2 The mean 15 equal to the median
3 The distance from (0 to @3 15 half of the distance from the smallest to the largest obscrvation
4 The distance from () to Q; equals to the distance from Q5 to (4

5 The distance from the smallest observation to Q) 1s the same as the distance from (5 to the largest observa-
ton

QUESTION 4

The figu ~ below shows the istogram of the numeric frequency distribution for shoppers’ ages

12+
9
8
Number 6-L 6
of ‘
Shoppers 4
3
0

20-<30-<40-<30 -<60 —<70
Age mtervals (m years)
What 1s the most frequent age interval of shoppers surveyed?
| between 20 and 39 years
2 be‘ween 30 and 39 years
3 between 20 and 29 years
4 between 30 and 49 years

5 between 60 and 69 years
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QUESTIONS

Refer to the information in Question 4 What percentage of shoppers belong to the most frequent age interval?
1 36
2 2667%
3 20%
4 10%

5 100%

QUESTION 6
Which one of the following statements 15 incorrect?

1 A random vanable 15 any attribute of interest on which data 1s collected and analysed
2 Ordinal data are categorical data that has an imphed ranking

3 A sample statistic 1s a measure that describes a charactenstic of a sample

4 Rato data are catcgoncal data with all categories having equal importance

5 Continuous data 1s any number that can occur 1n an interval

QUESTION 7
An 1nsurance broker 1s interested i knowing the occupations and gender of the residents of a small town Aftera
survey he found the information shown 1n the summary table below

Occupation Gender
Male | Female

Teacher 20 46

Farmer 18

Business owner | 12 8

Determine the probability that a person picked at random from this town 1s a business woman?

1 01818
2 00727
3 05455
4 01091

5 01333
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Refer to the information in Question 7 Determine the probability that a person picked at random from this town

1s not a teacher?
I 060
2 01818
3 040
4 100

5 04545

QUESTION 9

If events A and B are independent P (4) = 040 and P(B) = 030 Which of the following statements 15

incorrect?
1 P (A’) =060
2 P(dand B)=190 12
3 P(AIB) =040
4 P(AorB)=1058

5 P(BIA)=040

QUESTION 10

The manager of a large computer network has developed the following probability distribution of the number of

interruptions per day

Interruptions (X)

P(X)

010

015

005

Which of the following statements 15 correct?
1 E(X)=158
2 PO=X<3)=09
3 PXz22=09
4 P(l<X<4)=085

5 The vanance, g2 = 0 8660
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QUESTION 11

A car insurance broker found that the number of policy sales follows a Poisson distribution with an average of three

car insurance policics sold per week Calculate the probability that in a given week he will sell three policies?

1 02240
2 09502
3 00492
4 01992

5 0%0)8

QUESTION 12

Cross-fertilizing a red and a white flower produces red flowers 25% of the time  If we cross—fertilize five (5) pairs
of red and white flowers What 15 the probability that there will be more than three (3) redflowers in the five (5)
offspring?

1 00879
2 01035
3 00156
4 08965

5 02373

QUEST'ON 13

A neuropsychologtst design a test for short—term memory that has a population mean score of 100 and a standard
deviation of 5 Assume the scores are normally distnbuted Calculate the probability that a randomly sclected

person will have a score of at least 1107

I 01587
2 00228
3 09772
4 60179

5 000228
[TURN OVER]



QUESTION 14

STA1510
MAY/JUNE 2018

Refer to the information 1n Question 13. What 15 the minimum test score for short—term memory for the lowest

2 5% of the population?

2

100

902

109 80

110

More than 110

QUEST'ON 15

A research company found that the tyre lifespan for the tocal town vehicles is normally distnibuted with a mean
of 40 000km and a standard deviation of 4000km If a random sample of 45 vehicles 1s selected, what 1s the
probability that the mean lifespan of the tyres for these 45 vehicles 1s between 39 000 and 41 500km?

1

2

3

4

5

09476

0 4535

0 494]

0 0059

0 0465

QUESTION 16

Which one of the following statements 1s correct?

1

2

P(Z > 151)=09345
P(z < 155) = 00606

P(Z <—163)=009484
(—144 < Z < 0 60) = 0 6050

P(Z > —144) = 09251
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QUEST NN 17

A questionnaire was sent out to students of a certain college to find out who 1s responsible for paying their fees
The researcher found that 30 out of 100 students pay their own fees Create a 99% confidence interval of the

proportion of students who pay their own fees
1 021062 <x < 03898
2 01933 > 1 < 04067
3 02247 < < 03753
4 02414 <7 < 03586

5 01818 <z <0482

QUESTION 18

The following data represent the battery hife, i hours, for a random sample of 10 1Pod music players

[68[53]105]119[102]90[107[85[120]76]

Assume the population 1s known to be normally distributed  Create a 99% confidence interval for the mean number
of hours .l battery will [ast in an 1Pod

| 7444 < u < 11 0560
2 69751 < u < 115249
3 7878 < u < 106220
4 80985 < u < 104015

5 10025 < u < 104015

QUESTION 19

You would hke to rent an unfurnished one-bedroom apartment in Braamfontemn, Johannesburg next year The
mean monthly rent for a random sample of 50 apartments avertised on Property24 1s R2500 Assume that the pop-
ulation standard deviation 1s R500 and that the monthly rentals are normally distributed Create a 95% confidence

interval for the mean monthly rent
1 286042 < u <2939 58
2 238368 < u < 261632
3 230042 < p <2700 48
4 236141 < u < 263859
5 231757 < u < 268243
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QUESTION 20

A random sample of 200 observations shows that there are 36 successes  We want to test at the 1% significance
level 1f the true proportion of successes 1n the population is less than 24% and made certain calculations
Which on: of the following statements is incorrect?

36

1 The value of p is 55

2 Hy m=024versus H, m <024
3 The cnitical value of Z (from the normal table)1s Z < Zyg = —2 33
4 The standard error associated with this test 1s 0 0302

5 The test statistic1s 1 99

QUESTION 21

A simple random sample of 45 employees was selected from a company’s population and their mean age was
found to be 30 years Assume this 1s a normal distribution with a population standard deviation of four years For
testing whether the population mean age 1s more than 28 years at 1% sigmificance level, determine the p-value for
the test

1 07996
2 050

3 0025

4 000040

5 00008

QUESTION 22

Refer to the information in Question 21 The rejection area for this test will be

1 Reject Hy 1f the Zg; 18 > 2 33
2 Reject Hy ifthe Zg 15 < 2 33
3 Reject Hyifthe Zgu 18 > 1 28

4 Reject Hpifthe Z 15> 196 0r < —1 96

wh

Reje.t Hoifthe Zgyy 158 > 2 576 or < —2 576
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A study on the mode of transport that workers use to commute to work and the associated distance covered by

each mode of transport 1s summansed n the following table

Distance Mode of transport

Bus | Car | Tramn | Total
Okm < 10km | 10 |32 | Li 53
10km < 50km | 35 ] 17 |45 97
Total 45 149 156 150

Sclect the incorrect statement

1 Hy Mode of transport and distance travelled are independent

2 H, Mode of transport and distance travelled are dependent

3 Rejection region  reject Hy 1f the calculated y? < 1505‘2 = 5991

4 The y? test statistic value s 28 6997

5 We can conclude that the mode of transport 1s dependent of the distance travelled by the sampled workers at

5% level of sigmficance

QUESTION 24

Data was collected for the price and demand of a product

Demand (units) | Price (Rands)
500 75
700 65
400 80
300 120
250 150
The regression coefficients were calculated as by = 854 10and &) = -4 33

Select the correct statement

1 The relationship between demand and prices appears to be linear and positive

2 The least squares regression lime is y = 854 lx —4 33

3 The predicted demand if the price 1s R100 15 given as approximately 854

4 When by 15 negative, 1 —4 33 demand increases as price in rands decreases

5 If the price charged 1s R140, the esimated demand from the regression line will be 165
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QUESTION 25
Refer to the information in Question 24 I[dentify the incorrect statcrment

1 There 1s a positive relationship between demand and price charged on a product
2 The correlation coefficient was calculated to be —0 8663

The coefficient of determination 1s 75 05%

L]

4 The regression coefficient by 15 also negative

5 Only 75 05% of the change in demand 1s determined by the prices charged
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Table 1: Standardized Normal Distribution

The Standardized Normal Dhstribution

Fntry rey 1+ mts wrea under the standaichzed normal
distibunion from the meanto Z
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Z 0 61 02 03 04 H5 06 07 08 09
00 0060 0640 0080 0120 6160 0199 0239 0279 0319 G359
Ot 0398 0438 0478 0517 0357 0596 0636 0623 0714 0733
02 0793 0832 0871 a5 08 0987 1026 1064 1103 1141
03 1179 1217 1255 1293 1331 1368 1466 1443 1480 1517
04 1354 1391 1628 1664 1700 [736 1772 1808 1844 1879
s 1913 1930 1985 2019 2054 2038 2123 2157 2190 2224
06 2257 2291 2324 2357 2389 2422 2454 2486 2518 2549
07 2580 2612 2642 2673 2704 2734 2764 2794 2813 2852
08§ 2881 2910 2939 2967 2995 3023 3051 3078 306 313
ne 3159 3186 3212 3238 264 3289 3313 3340 3365 3389
] 3413 3438 3461 3485 3508 3531 3554 3377 3599 3621
1t Jo43 3663 1686 3108 379 3749 3770 3790 3810 3830
12 849 3869 3888 3907 3925 3944 3962 3980 1997 4015
13 4032 4049 4066 4082 4099 415 4131 147 4162 4177
14 4192 207 4222 4236 4251 4265 4279 4292 4306 4319
15 4332 4315 4357 4370 4382 4394 4406 4418 4429 4441
16 4452 4463 4474 4484 4495 4305 4515 4525 4535 4343
17 4534 4564 4573 4532 4591 4599 4608 4616 4625 4633
18 4641 4649 4656 4664 4671 4678 4686 4693 4699 4706
19 4713 4719 4726 4732 4738 4744 4750 4756 4761 4767
2y 4772 4778 4783 4788 4793 4798 4803 4808 4812 4817
21, 482 4826 4830 4834 4838 4842 4346 1850 4854 4857
22 1 4801 4864 4368 4§71 4875 4578 4881 4384 4887 4890
23 4843 596 4398 4901 4904 4906 4909 4911 4913 4916
24 4918 4820 4922 4925 4927 4929 4931 4932 4934 4936
23 4938 4940 4941 4943 4945 4946 4948 4949 4951 4952
26 4933 4955 4956 44957 4959 4960 4961 4962 4963 4964
27 4963 4966 4967 4568 4969 4970 457 4972 4973 4974
23 4973 4975 4976 4977 4977 4978 4979 4979 4980 4981
29 4981 4982 4982 4933 4984 4084 4985 4985 4986 44986
30 49R65 45869 49874 49878 49882 49886 40889 49893 49897 49504}
3 49903 499066 49910 49913 49916 45918 49921 49924 49926 49929
32 49931 49934 49936 49938 49940 49942 49944 49946 49943 49950
33 49952 49953 49935 49957 49958 49960 49961 45962 49964 49963
34 49966 49568 49369 49970 49971 449972 49973 49974 49973 49976
35 49977 49978 49978 49979 49980 49981 49931 49982 49983 49983
36 49984 49585 49983 45486 49986 49987 49987 49988 49988 49939
37 49589 4999¢ 49990 49590 49991 499591 49992 48952 49992 45992
38 49993 45993 49993 49994 45904 45994 49994 49995 49995 49995
19 49995 49995 49996 49996 49996 49956 49996 49996 49997 49997
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The Cumulative Standardized Normal Distnbution

Table 2A. Cumulative Standardized Normai Distribution {(Z < 0)

Eniry represents area under the cumulative standzrdizd
normial distobuugn from

—ocwZ
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Table 2B: Cumulative Standardized Normal Distnbution (Z > 0)

16

The Cumulative Standardized Normal Distnbution {Continued)
Fntry represents area uader the cumulatve standardized

normal distribution from —eo to Z
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z .00 0.01 200" 043 ' .004 . '005 006 a0y 0.08 0.09
00 | 05000 05040 0 5080 05120 - 05160 03199 05239 05275 05319 05359
01 | 05398 05438 05478 05517 05557 0 5596 05636 05675 0574 05753
62 | 05793 05832 05871 05910 05948 0 5987 06026 0 6064 06103 06141
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04 | 06354 06591 0 6628 06664 06700 06736 06772 0 6808 0 6844 06879
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33 | ©99952 099953 009955 0499057  DO9958 099960 099961  0999%2 099964 099965
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50 | 0999968329 .
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S0 | 0999999713 -

S5 | 0999999981 y :

60 | 0999999999 :
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Cntical Values of t

Table 3A* Critical values of ¢

=) SO

For a partscular number of dugrees of freedom, eniry rapreseants . o
the enneal vafue of t corresponding to the wanutatrve probabibity
{1 = &) and a specsfied upper-tand arca {a) ¢
Cumniative Probabilities
L0750 L0868 -, 095 8973 e . 0.5%5
Degrees of : Upper-Tul Areas
Freedom 025 - oo - 005 0025 001 B 003
1 1 0000 30 63138 B2 2 318207 63 6574
2 08165 1 8856 29200 43027 69646 99248
3 07649 6377 23534 3115824 45307 5 8409
4 07407 15332 21318 27764 3 7449 46041
5 47267 1 4759 2015¢ 2 5706 31649 40322
6 071 1 4398 19432 2 4469 31427 I
7 oy | 4149 I 8945 23646 20980 34595
8 0 7064 1 3968 1 8595 23060 25962 31554
9 07027 | 3830 1 8331 22622 282:4 3 2493
10 0 6998 13722 1 8128 2228] 27638 3 1693
8} 6974 13634 1 7459 12010 25181 3108
12 01 693% 1 3562 1 7823 21788 26818 30545
13 06938 13502 1 7109 2 o4 26503 39122
14 06974 1 3430 1 7613 2 1448 26245 29768
15 06912 ! 3406 17331 21313 26025 29467
6 06901 13368 17459 21199 25835 2908
17 06892 13334 17396 21098 2 5609 2.5982
13 06884 13304 17341 21009 25524 28784
19 06376 b 3277 1 7291 20930 253935 23609
it 06870 1 3253 | 7247 2 0860 2 5280 28453
2 06864 13232 i 7207 240796 25177 28314
n 06858 13212 P71 20139 25083 2 RIRE
23 06853 13193 t 7139 2 0647 2 45999 2 8673
24 0 6848 13178 L7149 20639 24927 2 7969
25 Q6841 13163 1 7081 20595 2 4851 27874
25 06830 13150 1 7056 20555 24786 2787
27 06837 1313 1 7633 20518 24727 27707
28 6834 13125 I 701t 2 (484 246N 27633
29 06830 13014 16991 20452 2 4620 27564
30 06828 13103 16973 20423 24573 2.7500
1 06825 1.3095 16955 20393 24528 2 7449
32 6822 1 308G 16939 29369 24487 27385
13 06820 13977 16924 20335 24448 27333
14 04318 13070 i 6909 20322 24413 27284
35 06816 13062 I 6896 20301 243717 17238
36 068 13053 1 6883 20281 24345 27195
37 06812 13049 1 6871 20262 24314 27154
38 056810 13042 1 6860 20244 24786 27016
39 0 6508 13036 | 6849 20227 24258 27079
40) 06807 13031 [ 6839 20211 14333 27045
41 06805 13025 16829 20193 24208 27012
43 0 6804 13020 16820 2013 24185 2 6481
43 06802 I 3015 16811 20167 24163 26551
44 0 6301 1 341t i 6802 20134 24148 26923
45 06800 13006 I 6794 20141 24121 26986
46 b 6199 13002 i 6787 20129 24102 26870
47 06797 12993 1 6779 207 2 4083 2 6846
43 0 6796 12994 16772 2 MG 2 4065 26822
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Table 3B: Critical values of ¢

E]
i

Fa o ek -~ [l S st U, YT 1
KGEE o T Cuthatatve Probabilifes . oS it o

v Y, v 5
i 751 5 % 09085, o095 . 0975k Mt Gae LT Goes -
RS LA - =i B - = EEEE
Coegressaf LA eeFEE TR Uil Aveat {1 By S
 Freedom Flods YWY R0 cqos g poas resttrem - Woees
4 6795 12991 16766 2 06 24049 2 6800
50 06704 12087 16750 20085 24033 26778
51 06793 12684 16753 20076 24017 26757
52 06792 12980 16747 20066 2 4002 26737
3 86791 12977 16741 ~2 0057 23988 16718
54 0 6791 12974 16736 20049 2391 26700
55 46790 L2971 16730 20046 23961 2 6682
36 06789 1 2969 16725 20012 2 3948 2 6665
57 0 6788 I 2966 16720 20025 23936 2 6649
58 06787 I 2963 16716 20017 23924 26633
5 06787 1 2961 6711 20010 23912 26618
o0 0 6786 1 2658 1 6706 20003 2 3901 26603
64 0 6785 1 2956 1 6702 L1999 23890 26589
62 06785 12054 1 6698 19990 2.38%0 26575
&3 06784 1 2951 1 6694 1 9983 2 3870 26561
64 06763 1 2949 § 6690 19977 2 3860 26549
65 06783 12947 1 6686 19971 21851 26536
66 se782 12945 16683 1 9966 21842 26524
& 06782 t 2043 16679 1 9950 23833 26512
68 06781 12941 16676 1 9955 23624 246501
69 T 12939 16672 I 9939 23816 2 6490
0 96780 12938 16669 19944 13308 26479
71 0 6780 12936 16666 19939 13300 2 6459
72 06719 12934 16663 § 9935 13793 26459
7 96779 12933 1 6660 19939 23785 26449
g nE778 12931 16657 19925 23778 26439
75 0 6778 12929 1 6654 19921 23971 28430
76 06777 12928 16652 19917 23764 26421
7 06777 12926 16649 £ 9913 23758 26412
% 06776 12925 1 6646 15908 24751 26403
9 0 6776 12924 1 6644 19905 23745 26395
80 06776 12022 t 6641 1 9901 23739 26387
81 08775 ] 2021 16639 19897 23733 26379
T2 08775 12920 16636 1 9893 23727 26371
82 06775 12918 16634 19390 137 26364
54 06774 12917 16632 1.98%6 13718 26356
85 06774 129t6 16630 1 9883 23710 2 6349
8 06T 12915 16678 {9879 13705 26341
&7 06773 12914 16626 19876 23700 26335
58 06773 12912 6624 19873 21695 26329
59 06773 12911 16622 19570 2 3660 26322
o 0 6772 1 2910 1 6620 1 9867 2 3685 2636
91 06772 1 2909 1 6618 19564 23680 26309
92 p6T72 1 7908 16616 19861 23676 26303
93 06771 12997 1 6614 19853 23671 26297
94 Q4711 1 2506 f 6612 1 9H55 2 3667 26291
95 06771 § 2005 16611 1 0853 23662 2 62%
9% 06771 1 2504 16609 1 9850 13658 26280
97 06770 12903 16607 1 9847 23654 2 6275
93 06770 12002 16606 £ 9845 2 3650 26269
9% 06770 12902 16604 19842 2 3646 2 6744
100 06770 12501 16602 1 9840 23642 26259
110 06767 12893 1 6588 19888 23607 26213
(20 .1 e7és (2885 16577 19759 23578 26174
e 06745 12516 16449 o600 - 23263 25738
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Table 4. Critical values of ;2

For a particular number of degrees of freedom, entry represents the critcal value of x°
corresponding to the cumulatave probabibity (1 - «) and a speaified upper-tml area (o)

STA1510
MAY/JUNE 2018

T e 5 s e REESE S T .
&7 » m o ~Cumulative Probabilites .. 7 -, ¢
- * e i3 T - iy " *
0085°. HOL 0025 005 " 010.. 925 075 090 095 0975 099 0995
-, - o o o CRP - R T -

Degrees of |- : o ‘ - S R ;U;:pg,r-’l‘aniéregs gfx) L - . 5 (

Freedom 0995 099 - 09757 095 090 075 025 . 010 005 60257 8.01°° 0005 |
3 0001 0064 0016 0102 1323 2706 3840  S024 6635 7879
2 0010 0020 0051 Q103 0211 @575 2773 4605 5991 T3ITR 9210 10597
3 0072 0115 0206 0352 0584 1213 4108 6251 7815 9348 11345 12838
4 0207 0297 0484 0711 1064 1923 5385 7779 9483 11143 13277 14860
5 0412 0534 0831 1145 1610 2675 6626 9236 1070 12833 15086 (6750
b 0676 0872 1237 1635 2204 3455 T84l 10645 12502 14449 16812 18458
7 0989 1230 1690 2167 2833 4255 9037 12017 14067 6013 18475 20278
8 1344 1646 2180 2733 3490  SO7L 10219 13362 15507 1753 20090 21955
9 E73S 2088 2700 3325 4168 S899 11389 14684 16919 19023 21666 23 339
10 2156 2558 3247 3940 4865 6737 12549 15987 18307 20483 23209 25188
1 2603 3053 3816 4575 5578 7584 13700 17275 19675 20920 24725 26757
12 3074 3571 44D4 5226 6304 §438 14845 18549 21026 23337 26217 28299
13 3565 4107 5009 5892 7042 9200 15984 19812 22362 24736 27688 29819
14 4 075 4 660 5629 6571 7790 10165 17117 21064 23685 26119 29141 31319
15 4601 5229 6262 7261 8547 11037 18245 22307 24996 27488 30578 323801
16 S142 5812 6968 7962 9312 11917 19369 23542 26296 28845 32000 34267
17 5697 6408 7564 8672 10085 12792 20489 24769 27587 30190 33409 35718
18 6265 7015 8231 9390 10865 3675 21605 25089 28869 31526 34805 37156
19 6844 7633 8907 Q0117 11651 44362 22718 27204 30144 32852 36191 38382
20 7434 8260 9591 10851 12443 15452 23828 28412 31410 34170 37566 39997
21 3034 8897 10283 11591 13240 16344 24035  2V6IS 32671 35478 38932 4l40
2 8643 9542 10982 12338 14042 17240 26039 30813 33924 36781 40289 42796
23 9260 10196 11689 13091 14848 18137 27141 32007 35172 38076 41638 44181
24 9886 10856 12401 13848 15659 19037 28241 33196 36415 39364 42080 45559
25 10520 11524 13120 14611 16473 19939 29330 34382 37652 40646 44314 46928
26 10160 12198 13844 15379 17292 20843 30435 35563 38885 41923 45642 48290
27 11808 12879 14573 16151 18114 21749 31528 36741 40113 43194 46963 49645
28 12461 13565 15308 16928 18939 22657 32620 37916 41337 44461 48278 50993
29 13121 14257 16047 1TTOR 19768 233567 33711 39087 42557 45722 49388 52336
30 13787 14954 1679t 18493 20599 24478 34800 40256 43773 46979 30892  S36T2

For larger values of degrees of frcedom (4f ) the expression £ = V237 — vV 4} — | may be used and the resulung upper-tail area can he found
from the cumulative standardized normal disiribunon (Table £ 2)
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Tabtla of Binomial Probabiines

For u given combimateon of w and 47, eutry indizates the p Jbability of obtmimng & spearfisd valus of X To locate entry,

T= 30 read  scrosa the bottom heading and both # apd X up the nght margin.

”

when m = 5{]r:ad-rrm:.mslheuphudmgmadbdhnmdxdwnthelcﬂmargln,whcn
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Table 5 (continued)
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First Examiner

Second Examuner.

Table of Paisson

Table 6:

22

Poisson Probabilities
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MARK READING SHEET INSTRUCTIONS

Your mark reading sheet 1s marked by computer and should therefore be filled in thoroughly and
correctly

USE ONLY AN HB PENCIL TO COMPLETE YOUR MARK READING SHEET
PLLASE DO NOT FOLD OR DAMAGE YOUR MARK READING SHEET

Consult the Mustration of 2 mark reading sheet on the reverse of tins page and follow the mstructions step by
step when working on your sheet

Instruction numbers (1 I D referto spaces on your mark reading sheet which you sheuld fill in as
follows

0 Write your paper code tn these eight squares, for instance

P{SIY[1(0]0]|-]X

®

The paper number pertams only to first-level courses consisting of two papers

WRITE | 0 | 1 | forthe first paperand | O | 2 | for the second If only one paper, then leave blank

Fill in your initials and surname
Fill in the date of the examination

F1ll in the name of the examination centre

Q000

WRITE the digits of your student number HORIZONTALLY (from left to right) Begin by filling in the

first digit of your student number n the first square on the left, then fill n the other digits, cach one in a
separate square

In each vertical column mark the digit that corresponds to the digit in your student number as follows
{-}
WRITE your unique paper number HORIZONTALLY

NB Your umque paper number appears at the top of your examination paper and consists only of digits
(e g 403326}

@ In each vertical column mark the digit that corresponds to the digit number 10 your unique paper

@

number as follows [-]

@ Question numbers | to 140 indicate corresponding question numbers in your exammatton paper The

five spaces with chgits | to 5 next to each question number indicate an alternative answer to each
question The spaces of which the number correspond to the answer you have chosen for each question
and should be marked as follows [-]

’ For official use by the invigilator Do not fill m any information here
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UNISA

attendance register
(university copy)

Batch No
28002015M€Q

|ELMERIE

Examunation peno

Student number { l l l l l l l l l J

Sumame

First Names

Subject

Code of paper Nurnber of paper

Centre Date

This 1s to certify that | have read the rules goverring the examinations as set out on the insige
cover of this examination answer book and in the examination nstructions

That the information supplied by me in this answer book 1s correct and vald

{undertake to adhere to the procedures, rules and regulations of the University of South Africa as
published in the official brochures

Signature of candidate

v B N R I R B R e

Signature of invigilator I i ’ [ | I | l ‘
UNISA invigilator’s personnet number
NOTE Not a vahd document if not completed by the lnvigdator

Tear

s Ly
VA E .

UNISAS

attendance register
(student copy)

Batch No
28002015M0Q

i

Student number {—’“ [ ’ I | I [ I

o) IEFAIRR

Surname

First Names

Subject

Code of paper | Number of paper

Centre Date

This 15 to certify that | have read the rules governing the examinations as set out on the mside
cover of ihis examunation answer book and in the examination instructions

That the formation supphed by me i this answer book 1s correct and valid

Vundertake to adhere to the procedures, rules and regulations of the University of South Africa as
published n the official brochures

Signature of candidate

D Number| | I I I 1 [ l ’ | ] [ I '
Signature of invigilator i | l ] l I i ]—]

UNISA invigilater's personnel number
NOTE Not a valid document 1f not completed by the Invigilater




